Guidelines to enter and check action data:
1. Baseline extinction probability [BaseX] should be the same for all actions for a given species.

2. The extinction probability with the action completed [ActX] should always be equal to or less than the
baseline probability [BaseX].

3. The no-action risk probability of extinction in 5 years (extinction risk if we delay acting by 5 years)
[RiskX] should always be equal to or less than the baseline probability of extinction [BaseX].

4. Sort (low to high) on the cost column [Cost] to check that you agree with the cost ranking of actions.

5. Sort (low to high) on the cost column [BaseX] to check that you agree with the baseline extinction risk
ranking of species.



